
이름: 　　　　　　　 날짜: 　　　　　　 점수: 　　　

숫자의백분율 ( 누락된숫자 )

________ × 90% = 15.3 ________ × 90% = 31.5

________ × 40% = 1.6 ________ × 80% = 50.4

________ × 70% = 35 ________ × 90% = 52.2

________ × 40% = 19.2 ________ × 10% = 8.9

________ × 40% = 17.6 ________ × 80% = 27.2

________ × 90% = 63.9 ________ × 90% = 41.4

________ × 60% = 47.4 ________ × 20% = 5.4

________ × 20% = 10.8 ________ × 10% = 1.3

________ × 90% = 86.4 ________ × 20% = 2.2

________ × 90% = 82.8 ________ × 90% = 30.6
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이름: 　　　　　　　 날짜: 　　　　　　 점수: 　　　

숫자의백분율 ( 누락된숫자 )

17 × 90% = 15.3 35 × 90% = 31.5

4 × 40% = 1.6 63 × 80% = 50.4

50 × 70% = 35 58 × 90% = 52.2

48 × 40% = 19.2 89 × 10% = 8.9

44 × 40% = 17.6 34 × 80% = 27.2

71 × 90% = 63.9 46 × 90% = 41.4

79 × 60% = 47.4 27 × 20% = 5.4

54 × 20% = 10.8 13 × 10% = 1.3

96 × 90% = 86.4 11 × 20% = 2.2

92 × 90% = 82.8 34 × 90% = 30.6

www.snowmath.com

https://www.snowmath.com

